Chapter 7 Section 7

Simplify.
1. (-5 20007 ( XV

ey -©) 2T LA ()

3.[3x-7)’ 4.(-2) (% a4 \[X -2
(An-¥X3xY) )&1-&13‘& 6 a%
B s

5. (4x-9» 6. (2x-7 N _
(t-\x-‘\Y'-h:-q) :a: 3);:,‘ 1,3q

RE - b,

JLx?-33x +%) s

Warm Up

Solve by substitution.
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Cumulative Warm Up

Egsential Question

How can you recognize and factor special products?
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== 4 Slip

Work with a partner. Use algebra tiles to write each polynomial
as the product of two binomials. Check your answer by multiplying.
State whether the product is a "special product” that you studied

in Section 7.3.
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Exploration 1c-d
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Work with a partner. Use algebra tiles to complete the rectangular e
array at the left in three different ways, so that each way represents
a different special product. Write each special product in standard
form and in factored form.

Exploration 2
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Difference of Two Squares Pattern

Algebra Example
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Core Concept

Factor (a) x* - 25 and (b) 42° - 1.
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Example 1

Use a special product pattern to evaluate the expression 54°
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Factor the polynomial.
1.%-36 2.100 - m? 3.9°-16  4.16h*-49

Use a special product pattern to evaluate the expression.
5.36%2- 347 6. 47% - 447 7. 55% - 50° 8. 28% - 24

Monitoring Progress 1-8

@) Core Coneept

Perfect Square Trinomial Pattern

Algebra Example

al + 2ab + 02 = (a + h)? X6+ 9 =12+ 2(r)(3) + 32
=(x+ 3¢

a? = 2ab + b* = (a — b =6y +9 =22 —2()(3) + 32
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Factor each polynomial.
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Factor the polynomial.
9.m*-2m+1 10. # - 10d + 25 11, 92° + 36z + 36

Solve the equation.
49
12.8°+6a+9=0 13.w2—%w+§=0 14.7-81=0
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Monitoring Progress 9-14

A bird picks up a golf ball and drops

it while flying. The function represents
the height y (in feet) of the golf ball

t seconds after it is dropped. The ball hits
the top of a 32-foot-tall pine tree. After
how many seconds does the ball hit

the tree?

y=81—161100

Example 5
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15. WHAT IF? The golf ball does not hit the pine tree. After how many
seconds does the ball hit the ground?

Monitoring Progress 15

« Exit Ticket: Factor each polynomial.
a.81-x

b.x* - 24x + 144

Closure



